

CORRELATION ANALYSIS OF SERUM CRK, CD138, AND APL WITH THE PROGNOSIS OF PATIENTS WITH DIABETIC NEPHROPATHY**KORELACIONA ANALIZA SERUMSKIH NIVOVA CRK, CD138 I APL SA PROGNOZOM PACIJENATA SA DIJABETIČKOM NEFROPATIJOM**Yibo Chen¹, Li Li², Rui Xia¹¹Nanjing University of Chinese Medicine, No. 282, Hanzhong Road, Huaqiao Road Subdistrict, Gulou District, Nanjing City 210009, China²Endocrinology Department, The First Affiliated Hospital of Anhui Medical University, No. 218 Jishi Road, Shushan District, Hefei City 230000, China**Summary**

Background: To explore the relationships between the levels of serum CITRON kinase-related kinase (CRK), syndecan-1 (CD138), and APJ receptor ligand (APL) and renal function and prognosis in patients with diabetic nephropathy.

Methods: From November 2023 to November 2025, 306 patients with diabetic nephropathy admitted to the hospital were selected as the study group, while 306 patients with simple diabetes were selected as the simple diabetes group; another 306 healthy individuals who underwent physical examinations during the same period composed the healthy control group. The levels of serum CRK, CD138, and APL were determined via enzyme-linked immunosorbent assay. Pearson correlation analysis was used to examine the relationships between serum CRK, CD138, and APL levels and clinical data in patients with diabetic nephropathy. To examine the variables determining a poor prognosis in patients with diabetic nephropathy, univariate and multivariate logistic regression analyses were performed. The prognostic value of serum CRK, CD138, and APL levels for unfavorable outcomes in individuals with diabetic nephropathy was examined using receiver operating characteristic (ROC) curves.

Results: Compared with those in the healthy control group, the levels of serum CRK and CD138 in patients in the simple diabetes group and the study group were increased, whereas the level of APL was decreased. The estimated glomerular filtration rate (eGFR) decreased in patients in the study group, and the urinary albumin-to-creatinine

Kratak sadržaj

Uvod: Cilj je bio da se ispita povezanost nivoa serumskog CITRON-kinaza srodnog enzima (CRK), sindekana-1 (CD138) i liganda APJ receptora (APL) sa bubrežnom funkcijom i prognozom kod pacijenata sa dijabetičkom nefropatijom.

Metode: U periodu od novembra 2023. do novembra 2025. godine, 306 pacijenata sa dijabetičkom nefropatijom primljenih u bolnicu je uključeno kao ispitivana grupa, dok je 306 pacijenata sa nekomplikovanim dijabetesom činilo grupu sa dijabetesom. Dodatnih 306 zdravih ispitanika koji su u istom periodu obavili sistemske preglede činilo je zdravu kontrolnu grupu. Nivoi CRK, CD138 i APL u serumu su određivani metodom enzimski vezanog imunosorbentnog testa (ELISA). Pirsonova korelaciona analiza je korišćena za ispitivanje povezanosti između nivoa CRK, CD138 i APL u serumu i kliničkih podataka kod pacijenata sa dijabetičkom nefropatijom. Radi identifikacije faktora koji određuju lošu prognozu sprovedene su univarijantna i multivarijantna logistička regresiona analiza. Prognostička vrednost serumskih nivoa CRK, CD138 i APL za nepovoljne ishode procenjena je pomoću ROC krivih.

Rezultati: U poređenju sa zdravom kontrolnom grupom, nivoi CRK i CD138 u serumu su bili povišeni kod pacijenata u grupi sa dijabetesom i u ispitivanoj grupi, dok je nivo APL bio snižen. Procijenjena brzina glomerularne filtracije (eGFR) je bila smanjena kod pacijenata u ispitivanoj grupi, dok je odnos albumina i kreatinina u urinu (UACR) bio povećan. Sve razlike su bile statistički značajne ($P < 0,05$). Nivoi CRK, CD138, APL i UACR u serumu bili su viši u

ratio (UACR) increased. All these differences were statistically significant ($P<0.05$). The levels of serum CRK, CD138, APL, and UACR in the study group were higher than those in the simple diabetes group, whereas eGFR was lower. All these differences were statistically significant ($P<0.05$). Pearson correlation analysis revealed that the levels of serum CRK, CD138, APL, and UACR in the study group were negatively correlated with eGFR ($P<0.05$) and positively correlated with renal disease stage, creatinine, 24-hour proteinuria, and UACR ($P<0.05$). Serum CRK, CD138, and APL levels, as well as the UACR, were higher ($P<0.05$) and the eGFR was lower ($P<0.05$) in the bad prognosis group than in the good prognosis group. Univariate and multivariate logistic regression analyses showed that serum CRK, CD138, and APL levels were associated with patients' prognosis ($P<0.05$). The results of the ROC curve analysis revealed that the combined area under the curve (AUC) of serum CRK, CD138, and APL for predicting poor prognosis was significantly greater than that of CRK ($Z=2.857$, $P=0.007$), CD138 ($Z=2.429$, $P=0.018$), and APL ($Z=2.175$, $P=0.033$). **Conclusion:** The levels of CRK, CD138, and APL in the serum of patients with DN increase, and these increases are related to renal function. The combination of these three indicators has greater predictive efficacy for patient prognosis.

Keywords: diabetic nephropathy, CITRON kinase-related kinase, multiligand proteoglycan-1, APJ receptor ligand, renal function, prognostic analysis

Introduction

Diabetic nephropathy is one of the most common microvascular complications of diabetes. Its characteristics include marked glomerular filtration, glomerular sclerosis, and interstitial and tubular fibrosis. As the disease progresses, diabetic nephropathy may lead to renal insufficiency and eventually develop into end-stage renal disease. It poses a major risk to patients' health and well-being (1). According to statistics, in 2019, there were 443,000 cases of type 1 and type 2 diabetic nephropathy in China, with 76,000 deaths, and the total number of patients was 31.65 million, increasing annually (2). Therefore, early assessment of renal function and prognosis in patients with diabetic nephropathy is vital. In recent years, with the development of molecular biology technology, an increasing number of biomarkers related to diabetic nephropathy have been identified, which may provide references for early diagnosis, treatment, and prognostic assessment. Among them, Rho-associated coiled-coil-forming protein kinase 2 (CRK), multiligand proteoglycan-1 (CD138), and APJ receptor ligand (APL) have attracted attention for their roles in diabetic nephropathy. CRK is a nonreceptor protein kinase related to cytoskeleton remodeling (3). Elevated serum CRK levels are associated with idiopathic membranous nephropathy (4). CD138 is a cell-surface molecule involved in cell adhesion, migration, and

ispitivanoj grupi nego u grupi sa dijabetesom, dok je eGFR bio niži ($P<0.05$). Pirsonova analiza je pokazala da su nivoi CRK, CD138, APL i UACR u serumu negativno korelisani sa eGFR ($P<0.05$), a pozitivno sa stadijumom bubrežne bolesti, nivoom kreatinina, 24-časovnom proteinurijom i UACR ($P<0.05$). U grupi sa lošom prognozom nivoi CRK, CD138, APL i UACR bili su viši ($P<0.05$), dok je eGFR bio niži ($P<0.05$) u poređenju sa grupom sa dobrom prognozom. Univarijantna i multivarijantna logistička regresiona analiza pokazale su da su nivoi CRK, CD138 i APL povezani sa prognozom pacijenata ($P<0.05$). Analiza ROC krivih je pokazala da je kombinovana površina ispod krive (AUC) za CRK, CD138 i APL u predviđanju loše prognoze značajno veća u odnosu na pojedinačne markere: CRK ($Z=2.857$, $P=0.007$), CD138 ($Z=2.429$, $P=0.018$) i APL ($Z=2.175$, $P=0.033$).

Zaključak: Nivoi CRK, CD138 i APL u serumu pacijenata sa dijabetičkom nefropatijom su povišeni i povezani sa bubrežnom funkcijom. Kombinovana primena ova tri pokazatelja ima veću prognostičku vrednost.

Glavne reči: dijabetička nefropatija, CITRON kinase-related kinase, multiligandni proteoglikan-1, ligand APJ receptora, bubrežna funkcija, prognostička analiza

signal transduction (5). The serum level of CD138 is elevated in children with nephrotic syndrome. APL is an endogenous vasoactive peptide with vasodilatory, anti-inflammatory, and antifibrotic functions (6–7). APL can reduce podocyte apoptosis in the kidney and alleviate diabetic nephropathy in mice (8–10). Currently, studies on CRK, CD138, and APL in patients with diabetic nephropathy are relatively rare, especially those examining their prognostic value.

Thus, the purpose of this study was to investigate the blood levels of CRK, CD138, and APL in individuals with diabetic nephropathy and to analyze their relationships with renal function and prognosis, providing new references for the treatment and prognostic assessment of diabetic nephropathy and thereby improving patient care.

Materials and Methods

General information

From November 2023 to November 2025, 306 patients with diabetic nephropathy were admitted to our hospital. With an average age of 57.57 ± 10.01 years, the research group consisted of 102 females and 202 males. For the simple diabetes group, 306 individuals with simple diabetes during the same time period were chosen, with an average age of 57.22 ± 10.23 years. Of these, 198

were male, and 108 were female. Within the same time period, 306 more healthy people with an average age of 57.89 ± 10.36 years – 196 men and 110 women – were selected as the healthy control group. Age and sex differences across the three groups were not statistically significant ($P > 0.05$).

Inclusion criteria: (1) diabetic nephropathy diagnosis conforms to the relevant standards of the guidelines; (2) simple diabetes diagnosis conforms to the relevant standards of the guidelines; and (3) complete clinical data.

Exclusion criteria: (1) Type 1 diabetes patients; (2) patients with polycystic kidney disease, nephrotic syndrome, stage 5 chronic kidney disease or end-stage renal disease who were receiving dialysis treatment; (3) patients with malignant tumors, autoimmune diseases, hematological diseases, or mental disorders; (4) patients using immunosuppressants, nephrotoxic drugs, etc., that may affect renal function and cause changes in serum indicators; and (5) patients with urinary tract infections, obstructions, etc., that may cause proteinuria.

The ethical committee at our hospital approved this study (approval number: HKYS-2026-A0285). Each participant completed the informed consent form and willingly participated in the study, as did their families.

Detection of serum CRK, CD138, and APL levels

On the day of admission, the patients in the study group and the simple diabetes group had 5 mL of blood drawn from the elbow vein in a fasting state. The blood was centrifuged to separate the supernatant, and the serum samples were stored at -80°C for future use. CD138, APL, and serum CRK levels were measured by enzyme-linked immunosorbent assay. Professionals completed the detection process and strictly followed the instructions of the reagent kits. The CRK and APL detection kits were purchased from Shanghai Fursheng Industrial Co., Ltd. (item numbers A102810 and A099893). The CD138 detection kit was purchased from Shanghai Enlink Biotechnology Co., Ltd. (item number: ml105539).

Renal function indicator testing

On the day after admission, urine samples were collected from the healthy control group during the physical examination. Creatinine levels in urine and serum samples were measured by the picric acid method, and albumin levels in urine were measured by the immunoturbidimetric method. The formula for estimating the glomerular filtration rate (eGFR)

is as follows: $\text{eGFR} [\text{mL}/(\text{min} \cdot 1.73 \text{ m}^2)] = 186 \times \text{serum creatinine concentration (mg/dL)}^{-1.154} \times \text{age}^{-0.203}$ (if female, multiply by 0.742). The following formula was used to determine the urine albumin-to-creatinine ratio (UACR): Albumin/creatinine in urine (UACR) (mg/g).

Prognostic assessment and follow-up

The patients in the study group were followed for 3 years through multiple channels, including outpatient visits and phone calls. The patients' conditions were recorded to determine whether they developed end-stage renal disease or died. Patients with an $\text{eGFR} < 15 \text{ mL}/(\text{min} \cdot 1.73 \text{ m}^2)$ who had received dialysis or kidney transplantation treatment were classified as having an unfavorable prognosis and were included in the unfavorable prognosis group ($n=62$), whereas those without such conditions were classified as having a favorable prognosis and were included in the favorable prognosis group ($n=244$).

Data collection

Clinical data such as smoking history, drinking history, hypertension, hyperlipidemia, coronary heart disease, renal disease stage, and family history of diabetic nephropathy were collected. Patients in the study group had their fasting blood glucose, glycosylated hemoglobin, total cholesterol, triglycerides, high-density lipoprotein cholesterol, and low-density lipoprotein cholesterol measured and compared.

Statistical analysis

The research data were statistically analyzed via SPSS 25.0. When P was less than 0.05, a difference was deemed statistically significant. One-way analysis of variance and the SNK- q test were used to compare many groups, while t tests were used to compare two groups. The measurement data are shown as $\bar{x} \pm s$ values. Comparisons between groups were performed using the χ^2 or corrected χ^2 test, and count data are presented as the number of instances (percentages) [$n(\%)$]. Serum CRK, CD138, and APL levels were correlated with clinical data using Pearson's correlation. The stepwise forward method was used for a multivariate logistic analysis of the factors influencing poor prognosis in patients with diabetic nephropathy. The prognostic value of serum CRK, CD138, and APL levels for poor prognosis in individuals with diabetic nephropathy was examined using receiver operating characteristic (ROC) curves.

Results

Comparison of CRK, CD138, and APL levels and renal function indicators in the three groups of serum

Both the study group and the simple diabetes group had higher levels of CRK and CD138 than those in the healthy control group, whereas APL levels were lower.

The eGFR decreased, and the UACR increased; the differences were statistically significant ($P<0.05$).

The levels of CRK, CD138, and APL in the serum of the study group and the UACR were all higher than those in the simple diabetes group, the eGFR was lower than in the simple diabetes group, and the differences were statistically significant ($P<0.05$; see Table I).

Comparison of clinical data among different prognosis study groups

Serum CRK, CD138, and APL levels were higher in the poor prognosis group than in the good prognosis group, and the estimated glomerular filtration rate (eGFR) of renal function indicators was lower. The urine albumin-creatinine ratio (UACR) increased, and the proportions of patients with stage III and IV kidney disease, creatinine levels, and 24-hour proteinuria levels were greater. All the differences were statistically significant ($P<0.05$), see Table II.

Correlations between the serum levels of CRK, CD138, and APL and renal function indicators

According to the results of the Pearson correlation analysis, there was a negative association ($P<0.05$) between the study group's blood levels of CRK, CD138, and APL and the eGFRs of renal

function markers and a positive correlation with renal disease stage, creatinine, 24-hour proteinuria, and the UACR ($P<0.05$), see Table III.

Logistic regression analysis of the factors influencing the prognosis of patients with diabetic nephropathy

The prognosis status of patients with diabetic nephropathy was used as the dependent variable (poor prognosis = 1, good prognosis = 0). The indicators with statistically significant differences in Table II (continuous variables were assigned their original values) were used as independent variables in a stepwise forward multivariate logistic regression analysis. As indicated in Table IV, the findings demonstrated that the prognosis of patients with diabetic nephropathy was influenced by the serum levels of CRK, CD138, and APL ($P<0.05$).

Predictive value of serum CRK, CD138, and APL levels for poor prognosis in patients with diabetic nephropathy

The test variables were serum CRK, CD138, and APL levels, and the dependent variable was the prognosis of patients with diabetic nephropathy (bad prognosis = 1; excellent prognosis = 0). Receiver operating characteristic (ROC) profiles were generated. When predicting a bad prognosis in patients with diabetic nephropathy, the serum CRK level's area under the curve (AUC) was 0.828, the CD138 level's AUC was 0.867, the APL level's AUC was 0.893, and the combined prediction of the three was 0.969. The combined prediction of the three was significantly greater than the predictions of CRK ($Z=2.857$, $P=0.007$), CD138 ($Z=2.429$, $P=0.018$), and APL ($Z=2.175$, $P=0.033$) alone (see Table V).

Table I Comparison of serum CRK, CD138, APL levels and renal function indicators among three groups ($\bar{x}\pm s$).

Group	n	CRK ($\mu\text{g/L}$)	CD138 ($\mu\text{g/L}$)	APL ($\mu\text{g/L}$)	EGFR [$\text{mL}/(\text{min} \cdot 1.73 \text{ m}^2)$]	UACR (mg/g)
Healthy control group	306	11.67 $\pm$ 2.11	9.29 $\pm$ 1.66	137.73 $\pm$ 30.44	108.86 $\pm$ 19.48	23.84 $\pm$ 6.36
Simple diabetes group	306	14.34 $\pm$ 2.98	12.47 $\pm$ 2.52	63.74 $\pm$ 15.61	105.97 $\pm$ 19.29	24.65 $\pm$ 6.13
Research group	306	24.29 $\pm$ 4.90	17.15 $\pm$ 3.10	83.90 $\pm$ 18.42	75.48 $\pm$ 17.43	109.85 $\pm$ 43.47
F		532.105	369.598	443.660	149.236	570.835
P		<0.001	<0.001	<0.001	<0.001	<0.001

Table II Comparison of clinical data of patients in different prognostic study groups [n (%) or $\bar{x}\pm s$].

Item	Good prognosis group (n=244)	Poor prognosis group (n=62)	T/X2/Correction χ^2	P
Gender			1.163	0.285
Male	156 (63.93)	46 (74.19)		
Female	88 (36.07)	16 (25.81)		
Age (years)	56.99 $\pm$ 10.26	59.87 $\pm$ 8.82	1.438	0.156
Course of diabetes (months)	94.18 $\pm$ 22.81	108.65 $\pm$ 23.41	1.618	0.101
Smoking history			0.509	0.470
Yes	78 (31.97)	24 (38.71)		
No	166 (68.03)	38 (61.29)		
Drinking history			0.367	0.549
Yes	88 (36.07)	26 (41.94)		
No	156 (63.93)	36 (58.06)		
Hypertension			2.701	0.103
Yes	52 (21.31)	22 (35.48)		
No	192 (78.69)	40 (64.52)		
Hyperlipidemia			0.632	0.427
Yes	16 (6.56)	8 (12.90)		
No	228 (93.44)	54 (87.10)		
Coronary heart disease			2.398	0.125
Yes	14 (5.74)	10 (16.13)		
No	230 (94.26)	52 (83.87)		
Family history of diabetes nephropathy			0.533	0.460
Yes	30 (12.30)	12 (19.35)		
No	214 (87.70)	50 (80.65)		
Staging of kidney disease			10.154	0.001
Phase I and II	156 (63.93)	20 (32.26)		
Phase III and IV	88 (36.06)	42 (67.74)		
C-reactive protein (mg/L)	9.49 $\pm$ 2.77	10.54 $\pm$ 2.81	1.889	0.064
Fasting blood glucose (mmol/L)	9.67 $\pm$ 1.85	10.24 $\pm$ 1.83	1.563	0.124
Glycated hemoglobin (%)	7.87 $\pm$ 1.69	8.13 $\pm$ 1.76	0.775	0.444
Total cholesterol (mmol/L)	5.23 $\pm$ 1.13	5.38 $\pm$ 1.15	0.679	0.503
Triacylglycerol (mmol/L)	1.99 $\pm$ 0.37	2.09 $\pm$ 0.38	1.481	0.132
High-density lipoprotein cholesterol (mmol/L)	1.19 $\pm$ 0.28	1.17 $\pm$ 0.25	0.400	0.688
Low density lipoprotein cholesterol (mmol/L)	2.89 $\pm$ 0.55	3.07 $\pm$ 0.69	1.628	0.109
Creatinine (μ mol/L)	172.64 $\pm$ 40.29	216.75 $\pm$ 35.00	5.586	<0.001
24-hour proteinuria (mg/24 h)	613.14 $\pm$ 155.09	789.95 $\pm$ 186.93	5.433	<0.001
CRK (μ g/L)	22.63 $\pm$ 4.45	30.72 $\pm$ 5.91	8.538	<0.001
CD138 (μ g/L)	15.97 $\pm$ 3.04	21.79 $\pm$ 4.19	8.840	<0.001
APL (μ g/L)	76.94 $\pm$ 16.81	111.77 $\pm$ 20.73	9.784	<0.001
EGFR [mL/(min $\cdot$ 1.73 m ²)]	79.18 $\pm$ 14.56	60.81 $\pm$ 11.70	6.975	<0.001
UACR (mg/g)	102.12 $\pm$ 22.11	139.87 $\pm$ 25.97	8.140	<0.001

Table III Correlation analysis between serum CRK, CD138, APL levels, and renal function indicators

Indicator	CRK		CD138		APL	
	r	P	r	P	r	P
Staging of kidney disease	0.579	<0.001	0.597	<0.001	0.592	<0.001
Creatinine	0.549	<0.001	0.555	<0.001	0.563	<0.001
24-hour proteinuria	0.536	<0.001	0.531	<0.001	0.548	<0.001
EGFR	-0.578	<0.001	-0.551	<0.001	-0.536	<0.001
UACR	0.680	<0.001	0.674	<0.001	0.653	<0.001

Table IV Logistic regression analysis of adverse factors in patients with diabetes nephropathy.

Item	Univariate analysis				Multivariate analysis			
	SE	OR	95% CI	P	SE	OR	95% CI	P
CRK	0.302	2.295	1.254~4.203	0.001	0.311	2.488	1.335~4.638	<0.001
CD138	0.266	1.939	1.159~3.245	0.015	0.244	1.889	2.087~3.028	<0.001
APL	0.270	2.093	1.217~3.590	0.001	0.263	2.193	1.319~3.649	<0.001

Table V Predictive value of serum CRK, CD138, and APL levels for poor prognosis of patients with diabetes nephropathy.

Item	AUC	Cutoff value	Sensitivity (%)	Specificity (%)	95%CI	Youden index
CRK	0.828	24.977 µg/L	87.13	68.93	0.739~0.917	0.563
CD138	0.867	18.318 µg/L	83.93	80.33	0.781~0.932	0.645
APL	0.893	95.718 µg/L	74.23	88.53	0.835~0.941	0.620
Joint efforts of the three parties	0.969	-	87.13	97.53	0.934~1.003	0.849

Discussion

Diabetic nephropathy is a common complication of diabetes. The assessment of the prognosis of this condition is highly important for long-term health and disease management. Research on biomarkers has shown that serum markers such as CRK, CD138, and APL can reflect the extent of damage in diabetic nephropathy and are associated with patients' renal function (11). Some markers related to renal injury are also associated with patient prognosis (12). Therefore, additional biomarkers related to patient prognosis are needed to accurately assess disease progression risk and formulate individualized treatment plans to delay progression and improve patient outcomes.

CRK is a serine/threonine protein kinase downstream of the small G protein of the Rho ki-

nase family, which affects various functions, such as cell contraction, migration, adhesion, and proliferation. In a cell model of diabetic nephropathy, high CRK expression promoted cell proliferation and fibrosis and accelerated disease progression (13). In this study, the serum CRK level in patients with diabetic nephropathy was elevated, and this elevation was associated with renal function, suggesting that CRK is involved in the development of diabetic nephropathy. CRK may inhibit peroxisome proliferator-activated receptors, modulate the nodes of energy homeostasis, regulate the transcription of fatty acid oxidation-related genes, and induce podocyte apoptosis in diabetic nephropathy (14). In addition, CRK is closely associated with increased levels of profibrotic factors, leading to albuminuria, glomerular sclerosis, and podocyte damage (15). CRK may affect the proliferation of renal tubular epithelial cells through the PI3K/AKT pathway, promote

apoptosis and epithelial-mesenchymal transition, and thereby regulate the onset and progression of diabetic nephropathy (16).

CD138 is a type I transmembrane glycoprotein of the heparan sulfate proteoglycan family, involved in processes such as cell differentiation, adhesion, diffusion, migration, and cytoskeletal organization. It is closely related to vascular endothelial permeability. The serum CD138 level in patients with type 2 diabetes is higher than that in nondiabetic patients. It is closely associated with proteinuria (17). In this study, the serum CD138 levels of patients with diabetic nephropathy were elevated and correlated with renal function, suggesting that abnormal CD138 levels may contribute to renal dysfunction in diabetic nephropathy. A possible reason is that CD138 is a surface protein on epithelial cells that participates in processes such as maintaining cell morphology and polarity. In diabetic nephropathy, a high-sugar environment may promote cell polarity loss and apoptosis, thereby elevating serum CD138 levels (18). CD138 may promote the production of extracellular matrix by renal tubular epithelial cells, thereby promoting the differentiation of fibroblast-like cells and the occurrence of renal fibrosis (19). In addition, CD138 expression may be regulated by the mTOR signaling pathway, and mTOR signaling pathway activation is closely associated with inflammation in renal endothelial cells (20).

APL is a bioactive polypeptide belonging to the apelin family. It is a fat cell factor derived from a 77-amino-acid precursor protein through posttranslational processing and cleavage at enzymatic sites. It plays important roles in regulating the cardiovascular system, myocardial infarction repair, anti-atherosclerosis, and neuroprotection, among other functions (21). In this study, the serum APL level in patients with diabetic nephropathy was higher than that in patients with simple diabetes, was closely related to renal function, but was significantly lower than that in healthy controls, suggesting that abnormal APL is associated with renal injury and is involved in the occurrence and development of diabetic nephropathy. The possible reason is that APL reduces renal tissue fibrosis by increasing nitric oxide production, alleviating the progression of diabetic nephropathy

(22); however, since the kidneys are the main organ for clearing APL, when renal function decreases, the clearance rate decreases, increasing the serum APL level in patients with kidney disease (23).

Serum CRK, CD138, and APL levels in the research group were found to be negatively correlated with the estimated glomerular filtration rate (eGFR) of renal function indicators and positively correlated with creatinine, 24-hour proteinuria, kidney disease stages, and urinary albumin-creatinine ratio (UACR) indicators, according to the study's Pearson correlation analysis. These findings suggest that these three factors may be involved in the occurrence and progression of the disease by influencing renal function. Additionally, the results of univariate and multivariate logistic analyses indicated that Diabetic nephropathy patients' poor prognosis was influenced by serum CRK, CD138, and APL levels. These results imply that these three variables may be crucial for determining the prognosis of diabetic nephropathy and for identifying high-risk individuals, enabling early development of intervention and treatment plans.

Conclusion

Serum levels of CRK, CD138, and APL were elevated in patients with diabetic nephropathy and were closely associated with renal function. Using these three parameters together yielded a comparatively high predictive efficacy for patient prognosis. However, this study is subject to certain restrictions, namely a limited sample size, which could compromise the accuracy and applicability of the findings. Future studies should be conducted with larger samples and in multicenter settings to verify. Additionally, the specific mechanisms by which APL, CD138, and CRK affect renal function and diabetic nephropathy remain to be further explored.

Conflict of interest statement

All the authors declare that they have no conflict of interest in this work.

References

1. Cao B, Guo Z, Li DT, Zhao LY, Wang Z, Gao YB, Wang YX. The association between stress-induced hyperglycemia ratio and cardiovascular events as well as all-cause mortality in patients with chronic kidney disease and diabetic nephropathy. *Cardiovasc Diabetol* 2025 Feb 6; 24(1): 55. doi: 10.1186/s12933-025-02610-1. PMID: 39915833; PMCID: PMC11803992.
2. Wang Y, Liu Y, Gu W, Cai B, Lei M, Luo Y, Zhang N. Association of immune-inflammation indexes with incidence and prognosis of diabetic nephropathy: a systematic review and meta-analysis. *Front Endocrinol (Lausanne)* 2025 Aug 18; 16: 1532682. doi: 10.3389/fendo.2025.1532682. PMID: 40900898; PMCID: PMC12399399.

3. Xu W, Zhou Y, Jiang Q, Fang Y, Yang Q. Risk prediction models for diabetic nephropathy among type 2 diabetes patients in China: a systematic review and meta-analysis. *Front Endocrinol (Lausanne)* 2024 Jul 3; 15: 1407348. doi: 10.3389/fendo.2024.1407348. PMID: 39022345; PMCID: PMC11251916.
4. Wang B, Xiong Y, Deng X, Wang Y, Gong S, Yang S, Yang B, Yang Y, Leng Y, Li W, Li W. The role of intercellular communication in diabetic nephropathy. *Front Immunol* 2024 Aug 22; 15: 1423784. doi: 10.3389/fimmu.2024.1423784. PMID: 39238645; PMCID: PMC11374600.
5. Li ZH, Sun ZJ, Tang SCW, Zhao MH, Chen M, Chang DY. Finerenone Alleviates Over-Activation of Complement C5a-C5aR1 Axis of Macrophages by Regulating G Protein Subunit Alpha i2 to Improve Diabetic Nephropathy Cells 2025 Feb 26; 14(5): 337. doi: 10.3390/cells14050337. PMID: 40072066; PMCID: PMC11898422.
6. Zhuo Y, Weng M, Lin J, Wu X, Nie K, Yang L, Cui J, Wan J. Clinical and Pathological Characteristics and Prognosis of Diabetic Nephropathy Patients With Tertiary Lymphoid Structures. *J Diabetes Res* 2025 Aug 13; 2025: 6916580. doi: 10.1155/jdr/6916580. PMID: 40843318; PMCID: PMC12367377.
7. Liu JF, Qian XP, Wang TX, Liu XL, Liu WG, Wang LJ, Zhang HF, Han L, Li GY, Yu XJ. Complement pathway: Risk molecular pattern of cardiovascular diseases in patients with diabetic nephropathy. *J Med Biochem* 2025; 44 (4): 801–7.
8. Zhang J, Zhu H, Tang Q, Wu J. Correlation Analysis of Vascular Endothelial Growth Factor Level with Clinicopathological Features and Prognosis in Patients with Diabetic Nephropathy: A Biopsy-based Study. *Cell Mol Biol (Noisy-le-grand)* 2023 Aug 31; 69(8): 192–7. doi: 10.14715/cmb/2023.69.8.29. PMID: 37715389.
9. Dahal K, Rawal L, Shah S, Bhattarai M, Bhattarai HB, Acharya A, Bhandari S, Paudel A, Sah S, Mehta R, Gupta A. Efficacy and outcomes of dapagliflozin in diabetic nephropathy: A systematic review and meta-analysis. *Medicine (Baltimore)* 2025 Jul 4; 104(27): e43171. doi: 10.1097/MD.00000000000043171. PMID: 40629621; PMCID: PMC12237297.
10. Yang S, Liao H, Ding H, Xu X. Investigation on the relationship between renal NONO expression, fibrosis and prognosis in diabetic nephropathy. *Front Endocrinol (Lausanne)* 2025 Oct 14; 16: 1652391. doi: 10.3389/fendo.2025.1652391. PMID: 41163679; PMCID: PMC12558785.
11. Alli AA. Extracellular Vesicles: Investigating the Pathophysiology of Diabetes-Associated Hypertension and Diabetic Nephropathy. *Biology (Basel)* 2023 Aug 16; 12(8): 1138. doi: 10.3390/biology12081138. PMID: 37627022; PMCID: PMC10452642.
12. Demirelli B, Boztepe B, Şenol EG, Boynueğri B, Bildacı YD, Gümrükçü G, Canbakan M, Öğütmen MB. Nondiabetic nephropathy in diabetic patients: incidence, HbA1c variability and other predictive factors, and implications. *Int Urol Nephrol* 2024 Sep; 56(9): 3091–100. doi: 10.1007/s11255-024-04066-w. Epub 2024 Apr 25. PMID: 38662267.
13. Tian F, Yi X, Yang F, Chen Y, Zhu W, Liu P, Li S. Research progress on the treatment of diabetic nephropathy with leech and its active ingredients. *Front Endocrinol (Lausanne)* 2024 Jan 26; 15: 1296843. doi: 10.3389/fendo.2024.1296843. PMID: 38344666; PMCID: PMC10853373.
14. Abdel-Tawab MS, Mohamed MG, Doudar NA, Rateb EE, Reyad HR, Elazeem NAA. Circulating hsa-miR-221 as a possible diagnostic and prognostic biomarker of diabetic nephropathy. *Mol Biol Rep.* 2023 Dec;50(12):9793-9803. doi: 10.1007/s11033-023-08846-y. Epub 2023 Oct 13. Erratum in: *Mol Biol Rep* 2023 Dec 20; 51(1): 24. doi: 10.1007/s11033-023-09085-x. PMID: 37831346; PMCID: PMC10676308.
15. Barr SI, Abd El-Azeem EM, Bessa SS, Mohamed TM. Role of exosomes in pathogenesis, diagnosis, and treatment of diabetic nephropathy. *BMC Nephrol* 2025 May 8; 26(1): 230. doi: 10.1186/s12882-025-04120-4. PMID: 40340661; PMCID: PMC12063312.
16. Jia J, Tan R, Xu L, Wang H, Li J, Su H, Zhong X, Liu P, Wang L. Hederagenin improves renal fibrosis in diabetic nephropathy by regulating Smad3/NOX4/SLC7A11 signaling-mediated tubular cell ferroptosis. *Int Immunopharmacol* 2024 Jun 30; 135: 112303. doi: 10.1016/j.intimp.2024.112303. Epub 2024 May 21. PMID: 38776855.
17. Li Y, Wu C, Song C, Liu S, Nan Z. Efficacy and safety of Huangkui capsule for diabetic nephropathy: A systematic review and meta-analysis. *Medicine (Baltimore)* 2024 May 31; 103(22): e38417. doi: 10.1097/MD.00000000000038417. PMID: 39259064; PMCID: PMC11142806.
18. Mohammad HMF, Galal Gouda S, Eladl MA, Elkazaz AY, Elbayoumi KS, Farag NE, Elshormilisy A, Al-Ammash BB, Hegazy A, Abdelkhalig SM, Mohamed AS, El-Dosoky M, Zaitone SA. Metformin suppresses LRG1 and TGFβ1/ALK1-induced angiogenesis and protects against ultrastructural changes in rat diabetic nephropathy. *Biomed Pharmacother* 2023 Feb; 158: 114128. doi: 10.1016/j.biopha.2022.114128. Epub 2022 Dec 14. PMID: 36525822.
19. Liu Y, Duan P, Yang Z, Liu J, Jiang S, Chen H. Establishing a Risk Model for Diabetic Nephropathy and Addressing the Therapeutic Effect of Combined Epalrestat- Dapagliflozin Regimen. *Iran J Kidney Dis* 2024 Oct 18; 18(5): 286–93. doi: 10.52547/ax1vqh41. PMID: 39423107.
20. Kwak Y, Lee JY, Kim JS, Yang JW, Hwang KH, Cha SK, Eom M. Clinical and pathological significance of Orai1 channel expression in human diabetic nephropathy. *Kidney Res Clin Pract* 2024 Sep; 43(5): 626–34. doi: 10.23876/j.krcp.23.342. Epub 2024 Aug 7. PMID: 39109399; PMCID: PMC11467362.

21. Lin YQ, Yu F, Chen HJ, Deng YR, Lin J, Xu Y, Zheng X, Zhang JW, Liu JF. Efficacy of astragalus combined with renin-angiotensin-aldosterone system blockers in the treatment of stage III diabetic nephropathy: a systematic review and meta-analysis. *Ren Fail* 2024 Dec; 46(2): 2359033. doi: 10.1080/0886022X.2024.2359033. Epub 2024 Jun 5. PMID: 38836372; PMCID: PMC11155431.
22. Roointan A, Shafieizadegan S, Ghaeidamini M, Gheisari Y, Hudkins KL, Gholaminejad A. The potential of cardiac biomarkers, NT-ProBNP and troponin T, in predicting the progression of nephropathy in diabetic patients: A meta-analysis of prospective cohort studies. *Diabetes Res Clin Pract* 2023 Oct; 204: 110900. doi: 10.1016/j.diabres.2023.110900. Epub 2023 Sep 9. PMID: 37678725.
23. Han Q, Xu H, Li L, Lei S, Li Z, Zhao L, Liu F. Higher density of CD4+ T-cell infiltration predicts severe renal lesions and renal function decline in patients with diabetic nephropathy. *Front Immunol* 2024 Nov 25; 15: 1474377. doi: 10.3389/fimmu.2024.1474377. PMID: 39654881; PMCID: PMC11625791.

Received: March 20, 2026

Accepted: April 21, 2026